This question paper containg 8+3 printed pages]

670

Your Roll No

B.Com.{Hons.)/11 C

Paper X— MICRO-ECONOMIC THEORY

Tinie : 3 Hours

AND APPLICATIONS-II

(Admissions' of 2004 and onwards)

Maxinman Marks @ 75

(Hrite vour Roll Nu. on the iop immediately on receipt of this question paper.)

Note :—- (D

The maximwm marks printed on the question paper
are applicable for the candidates registered with the
School of Open Learning for the B.Com. (Hons.)
These marks will, however, be scaled down
proporiionately in respect of the students of .regular
colleges, at the time of posting of awards for
compilation of result. .
™ 9E-79 W AfEd qois ‘wma ofw S
At & diwm (o) § yaw-ww S
& fou g & feofma ool & fou &=
i w1 gorutaE AU heed Jar
W g9 fem S

PT.O.



(2 ) 670

-(f.f) Answers may be writen edfther in English or in
Hindi; but the same medium should be used
throughout the paper.
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All questions are com.pulsory.

All questions carry equal marks.

st gy sifEr €
aft v @ 3w mEE ¥
(@} How do firms reach equilibrium in the long run under

monopolistic compelition when new firms are entering

in the industry ? 75
(b)  Write short noles on : 7.5
(N The social cost of monopoly power.

(i) Multiplant monopoly
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Write a short note on The regulation of monopoly

through the imposition of tax, both a specific tax and

lumpsum tax. _ 15

The demand for electricity rises during the peak load
evening hours. Can you suggest a higher peak load

price -? Give reasons. 75
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Let the market demand be p = 50 — 0.5x and the cost
of two cartel fims be C\= 10x, and C, = 0.5+,

Calculate profit maximizing cutput and joint profit of the

cartel firms. ' 15
Discuss contestable market theory. 75
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{a) Suppose therelare two firms which produce output under
zero cost of production. The market demand curve is
given by P = 20 — Q(Q = totat output). Calculate the
output viz., Q; and Q, for the two firms under
Stackelberg’s model. 7.5

(6) Why does the price rigidity arise in oligopolistic
market 7 ‘ . , 75
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Defing Maonopsonist market structure ? How does a

profil maximizing Monopsonist exploit labour 2 7.5

Discuss the derivation of demand curve for labour in
the case when {abour s ope of several variab];: factors
and there is perfect competition in the factor and
product market. ' 75
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Discuss the backward bending supply curve of

labour. 7.5

Explain how the wages are determined in imperfectly
competitive market when labour is the only variable

factor. 75
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Discuss the net present value criteria for capital -

"investment decision. 157
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{h)  What do you mean by risk ? How do individuals reduce
risk ? 1.5
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(a)  Explain how risk can be measured by standard deviation
of expected income ? Draw risk indifference curves for
two risk averse indtvidual A and B where A 15 extremely
risk averse and B is moderately risk averse. (Indicate

standard deviation of expected income on X-axis and

expected income on Y-axis) 75



« 9 670

(5)  Calculate the Present Discounted Value of the following

two slreams : 75
Today I Year 2 Year
A T 100 T 100 0
B T 20 T 100 T 100

For the interest rates of 5%, 10%, 15% and 20%

compare the PDV of the above two sireams.

(%) W wifvu 5 ifen | 59 R vafim
T & TME foded g AW S gwAl §
3 wifam =g =fda A ol B 5 fog <ifem
safym o aRE, WE A srafuwm  wfeam
affF ¥ R p wuRoM: Sfem s
(T 3ME & AAe foued @ X349 W

@ yofym o W v.sy W osfe wifsm)

P.T.O.



(10 ) 670
(@) frefafga @ omed 1 wHH FEEFd TR

aferfad wifa -

&I 1 @ 2 o
A 3100 Z 100 0
B z 20 z 100 2100
$%. 10%, 15% 3R 20% = & & WW.
& ymell @ adTR wEigd qed H o ge
i

() Using the Edgeworth Box diagram, explain the efficiency
in exchange of two . goods between two

households. . 75

(b))  Discuss market failure and its causes. Discuss market

power and inefficiency in detail. 75
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(@) Write a short note on public goods. 15
(hy Wrtte a short notc on Extemnalities. 15
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